i | ]
— L 1]21314]5 ]
= 4 4|3|4|4 19/20
;_—_‘D- E=s==—tcs |
| P& PVa[PAR|(PVQ) = (PAR) |
—E =R i

= e e e e R

JEITL THFE-{ - F
T T LT Ts
I e
= Pﬂ P‘:‘.>&_Gr=‘;r|j_(_=va)/\@=>P) |

SRR S
e E ___f__ﬁ =
4 r F T 1. —1F F £ T
= T T T

~ 3 Beth Pmmaﬁm LPV&\—»(PAQ\ ol (P >@)/\(u=ﬂ
_ﬂ_‘kauaH@.smna %UH\J JYWM%W rzbﬁ\\,{f %JnDM
_ldre 671,.»mlmf'%%ch Prom o, PO ABSP), ¢
— a’w 5(:1!/ VQ%W '}T P@—ﬁ'& WM\ﬂ\‘\‘\QW TWW

= PVQ:E?GA AS quWalM )fﬂ ?hfi

Y ———

— ’b ‘{'\\M;a _mﬁ%mum ntjq,ek\f#ﬂl ?@b\?_ )

1 e +Fue,

LS 0] e ——

— gdc&sh”fl Mve o rmmmvrn ht Vxéﬂ 3\361’2 ¥@>ﬁj’)

__1'9}_ei- yek, We s chatle Z/QW\ SU&\\ W’f 2=
=7 ‘F@@"—‘F( )'? ’F@e}‘ <~‘('Qa -+ e
—'mw&m w R ILER, H) <fm\ Sr====

e, T —



‘qu,+ 1+ ‘FGMOWK %‘K 4 &Hl
f'l(:z_l( + N +4 '-—'-—M-;—nw ﬂ(ﬂ*r’?)-}-l(\-*j

=1 k=1

= (rDfh+1) J’}wfewtarC(? K_M‘L) XK*-‘-(-—-M)

A L

T cdsion 2622 o) (E_(_M)
@K..@-M)&w \) wa ag, N

Yhecehre NnEN" zK Jﬁi |

) Let the prperty Pin) ke ZK ;K)

12'5“‘4:4 cw%l(g:) fer | .

Theretre PO 15 Free,

Lot ostome T EN suhhat Py ond showthat it

flows that PO is Yove. Forthiswe wtll e the
resuht (?fG\L{, inhe frevicd C}M{!{Of\ M i€ }:K._ nbms

fK z M F +M (—@”—‘3\ o+ l
K=

S ) )= T A e ) ‘




ﬂgw**—i_@L\ﬁ”‘g\) m) Fherdore

YneN®, )=y Fine)
‘ / iyt Ph
Yo condusion P \\ \'H)l’ o) VY\(N , Firvys Pl

theve fove \neN*, 2\& "(}- )‘L- 3/4

o ) ) Lll (‘I)
) \awe -1 el | ]
Wil YO Ao and 244 ?,b (31’)}157[7“ L
T 2e)-00;-2[,(T)e= M ~ A Y

& 2 -5 &2 x,)-»-—- G [M"J-a
T seefn L0 NG tea-mady 2004

-y s=fr-3
Yyl -5 YA
C:;; oA e[2j 4ol TV A 2.y 2ot
&34 (= q) ;3 i
Twee fore S=1%-73].

_Ex_'zq;ce N

i 1‘{”3‘&*“ ? Ll""? 3 :5_\_'_1_ 11-—4

1
') 2 -q\!*‘& =Y L:,"7L 31...1
2% +\é/ — q

LA 'ltj/ IE=—F
=i "5‘(4( Y72 =21 L3"=P EL3+7.L2*

FY ~A02=-30

LAY IR ALY =3 ,;_- ;1:.-—,:
24=7 4 =
{ Yy :?: 1 1 S\A/ A2A4=7). o

= W—o SE {Kl 0,‘5)}




AR
'2)'“ 2 +2y - 32-—-—; |
~ ‘41-13/—&9_3..44
™ 4m=-C

0 =2
& ‘h-—lw 22=4Y
S 4z=-g

- 4/4

L]




